ME 405 Fall 2006 Professor John M. Cimbala  Lecture 02 09/08/2006

Today, we will:

Discuss the HERP index (Section 1.2, Table 1.6)
Do some example problems

Review some fundamentals (Section 1.5)

Do Candy Questions for Candy Friday
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Example

Given:
Bacon has some carcinogens
Diet soda with saccharin has some carcinogens

To do: Using HERP data, calculate how many 100 gram servings of bacon per day

(every day of your life) you would need to eat to have the same cancer risk as drinking one
12-0z. diet cola with saccharin (every day of your life).
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